O=tip, The zolid shaft is subjected o a torque, bending
moment, and shear force as shown., Determine the principal
stresses acting at points A and B and the absolute maximum
shear stress.
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Shear Seress : Applying the wrsion formaly for poing A
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In - Plane Principal Stresses @ The cocedinaes of poinis 8 and
L} represent o, and @y, respectively, Fos gpaint A
Ty = I:'r-.r:':, = Fimini ; : 5 it e
_ _SOTI0417(107%)]  45000.025) 7, = 2445+ 3056 = 5,50 MPa
QLI06TI6] 1050 (0.05) 0613552 { 10-#) oy = 1 4di = 3050 = <0611 MPa
=—1.250 MP3
For poaw 8,
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And for poang B
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